
Bestimme die Lösungsmenge der quadratischen Gleichung.

− 144 = 0 | + 144 − 4 = 0 |

= 144 | = |

= ± =

= + 12 =

= − 12 =

L={+12; −12}  L=

− 100 = 0 | − 36 = 0 |

= | = |

= =

= =

= =

 L=  L=

− 25 = 0 | − 121 = 0 |

= | = |

= =

= =

= =

 L=  L=

x2

©
 w

w
w

.m
at

h
ik

i.d
e

x2

x2 x2

x2 x2

x
1

x
1

x
2

x
2

©
 w

w
w

.m
a

th
ik

i.d
e

x2 x2

x2 x2

x2 x2

x
1

x
1

x
2

x
2

x2

©
 w

w
w

.m
at

h
ik

i.d
e

x2

x2 x2

x2 x2

x
1

x
1

x
2

x
2

© www.mathiki.de

Quadratische Gleichungen
Übungen
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Bestimme die Lösungsmenge der quadratischen Gleichung.

− 144 = 0 | + 144 − 4 = 0 | + 4

= 144 | = 4 |

= ± = ±

= + 12 = + 2

= − 12 = − 2

L={+12; −12} L={+2; −2}

− 100 = 0 | + 100 − 36 = 0 | + 36

= 100 | = 36 |

= ± = ±

= + 10 = + 6

= − 10 = − 6

L={+10; −10} L={+6; −6}

− 25 = 0 | + 25 − 121 = 0 | + 121

= 25 | = 121 |

= ± = ±

= + 5 = + 11

= − 5 = − 11

L={+5; −5} L={+11; −11}
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